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FT—7IL~FiE& 0 400 x 450 mm

BRAMIY~tiE : 400 x 450 X 300 mm

EAMNMIYMESE : 200 kg

BIBEBATRERE : ¢00.25~3.0 mm

AkA—% X : 300 Y : 400 Z : 300mm W : 230mm
HARTEMNST—TILEEETOIER : 70 ~ 300 mm
EXB=E : 31 6.2kVA. 200V

FTERE : 1,425 X 1,120mm =& : 2,080 mm
HHESE . 850kg

LATLavARED

WEd NCHl

FuigEsE

HE—XZUHE e tik : 706 x 436 x 1,350 mm
I : VITOL-KS

BHE : 110 kg

BUHBRE - 100 L

MIZEBAR : R—1\T4I)LE2HBHK HF-17T(RER)
SERUT 0 3%H 220V 0.75kW

SERVTHEERE : 8 Mpa
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400 X 450 mm
300 o
400 m
300 o
230 am
200 ke
400 x 450 x 300 mm
$0.25 ~ ¢$3.0 mm
70 ~ 300 m
1,425 x 1,120 x 2,080 mm
1,425 x 1,620 mm
850 ke
0.5 MPa
3% 50/60Hz 4=6- KVA
s 7 I
706 x 436 X 1, 350 m
VITOL—KS
110 ke
100 L
R— Va3 HF-17 (RER)
3# 200/226V 0.75 KW
8 MPa
®0.5~®3.0 m
300 i
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